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QUESTION 1

You wonder which installed RPM package the /etc/exports file belongs to. Which command will give you the desired
information?

A. rpm -f /etc/exports

B. rpm -gf /etc/exports

C. rpm -gl /etc/exports

D. rpm --provides /etc/exports

Correct Answer: B

QUESTION 2

Using the nice command, what is the highest priority a normal user can assign to a process?

D. 19
E. 20
F. 99

Correct Answer: C

QUESTION 3

What does the following command do? tar -tzvf /tmp/backup.tgz etc/HOSTNAME

A. It extracts the etc/HOSTNAME file from the /tmp/backup.tgz archive.

B. It includes the etc/HOSTNAME file in the /tmp/backup.tgz archive.

C. It produces an error message because the options are in the wrong sequence.

D. It displays a line similar to the following, but otherwise does nothing: -rw-r--r-- root/root 23 2005- 03-11
14:20 etc/HOSTNAME

Correct Answer: D
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QUESTION 4

You want to delete all data on the second hard drive (/dev/hdb). Which command accomplishes this?
A. rm /dev/hdb

B. dd if=/dev/zero of=/dev/hdb bs=100k

C. dd of=/dev/zero if=/dev/hdb bs=100k

D. dd if=/dev/zero of=/dev/hdb count=1 bs=1024

Correct Answer: B

QUESTION 5

Which statement about a differential backup is correct?

A. The use of differential backups is limited to backups on tape roboters.

B. To restore a differential backup, you need the last differential backup only.

C. To restore a differential backup, you need the last full backup and the last differential backup that was made since
the last full backup.

D. The amount of data that needs to be backed up with each differential backup depends only on the amount of data
changed since the last differential backup.

Correct Answer: C
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